Cost  Accounting            QUIZ Chapter 11          Name _________________________________


1. When there is excess capacity, it makes sense to accept a one-time-only special order for less than the current selling price when:

A.  incremental revenues exceed incremental costs.

B.  additional fixed costs must be incurred to accommodate the order.

C.  the company placing the order is in the same market segment as your current customers.

D.  it never makes sense.
2. Define “opportunity cost.”

3. Relevant costs of a make-or-buy decision include all of the following EXCEPT:

A.  fixed salaries that will not be incurred if the part is outsourced.

B.  current direct material costs of the part.

C.  special machinery for the part that has no resale value.

D.  material-handling costs that can be eliminated.

4.  Schmidt Corporation produces a part that is used in the manufacture of one of its products.  The costs associated with the production of 10,000 units of this part are as follows:


Direct materials                
$  45,000


Direct labor                      
65,000


Variable factory overhead         
30,000


Fixed factory overhead            
70,000

Total costs                     
$210,000

Of the fixed factory overhead costs, $30,000 is avoidable.


Phil Company has offered to sell 10,000 units of the same part to Schmidt Corporation for $18 per unit.  Assuming there is no other use for the facilities, Schmidt should:

A.  make the part, as this would save $3 per unit

B.  buy the part, as this would save $3 per unit

C.  buy the part, as this would save the company $30,000

D.  make the part, as this would save $1 per unit

Assuming no other use of their facilities, the highest price that Schmidt should be willing to pay for 10,000 units of the part is:

A.  $210,000
B.  $140,000

C.  $170,000
D.  $180,000

5. Camera Corner is considering eliminating Model AE2 from its camera line because of losses over the past quarter. The past three months of information for Model AE2 are summarized below:

Sales (1,000 units)
$300,000

Manufacturing costs:

     Direct materials
150,000

     Direct labor ($15 per hour)
60,000

     Overhead
100,000
Operating loss
($10,000)

Overhead costs are 70% variable and the remaining 30% is depreciation of special equipment for model AE2 that has no resale value.

If Model AE2 is dropped from the product line, will operating income increase or decrease by how much?

6. Depreciation costs are not cash flows and generally not relevant to a replace-equipment decision.  Give an example of when depreciation costs would be relevant to a division manager.
7. Managers at times face multiple constraints (e.g., a limited amount of materials, labor, and machine hours) and want to maximize profits.  What approach in a multiproduct company is used to address this problem(s)?
8. If a company has only one constraint (e.g., pounds of plastic) and multiple products, what would they do to maximize profits?
1. When there is excess capacity, it makes sense to accept a one-time-only special order for less than the current selling price when:

A.  incremental revenues exceed incremental costs.

B.  additional fixed costs must be incurred to accommodate the order.

C.  the company placing the order is in the same market segment as your current customers.

D.  it never makes sense.

2. Define “opportunity cost.”


The benefit foregone (lost) but not choosing the next best alternative.

3. Relevant costs of a make-or-buy decision include all of the following EXCEPT:

A.  fixed salaries that will not be incurred if the part is outsourced.

B.  current direct material costs of the part.

C.  special machinery for the part that has no resale value.

D.  material-handling costs that can be eliminated.

4.  Schmidt Corporation produces a part that is used in the manufacture of one of its products.  The costs associated with the production of 10,000 units of this part are as follows:


Direct materials                
$  45,000


Direct labor                      
65,000


Variable factory overhead         
30,000


Fixed factory overhead            
70,000

Total costs                     
$210,000

Of the fixed factory overhead costs, $30,000 is avoidable.


Phil Company has offered to sell 10,000 units of the same part to Schmidt Corporation for $18 per unit.  Assuming there is no other use for the facilities, Schmidt should:


A.  make the part, as this would save $3 per unit


B.  buy the part, as this would save $3 per unit


C.  buy the part, as this would save the company $30,000


D.  make the part, as this would save $1 per unit


Avoidable costs total $170,000 = $45,000 + $65,000 + $30,000 + $30,000.


$18 – ($170,000/10,000) = $1

Assuming no other use of their facilities, the highest price that Schmidt should be willing to pay for 10,000 units of the part is:

A.
$210,000


B.
$140,000

C.
$170,000


D.
$180,000


$45,000 + $65,000 + $30,000 + $30,000 = $170,000

5. Camera Corner is considering eliminating Model AE2 from its camera line because of losses over the past quarter. The past three months of information for Model AE2 are summarized below:

Sales (1,000 units)
$300,000

Manufacturing costs:

     Direct materials
150,000

     Direct labor ($15 per hour)
60,000

     Overhead
100,000
Operating loss
($10,000)

Overhead costs are 70% variable and the remaining 30% is depreciation of special equipment for model AE2 that has no resale value.

If Model AE2 is dropped from the product line, will operating income increase or decrease by how much?



Decrease by  $20,000


$300,000 – $150,000 – $60,000 – $70,000 = $20,000   This product contributes $20,000 toward corporate profits, therefore, discontinuing this product will decrease operating income by $20,000.

6. Depreciation costs are not cash flows and generally not relevant to a replace-equipment decision.  Give me an example of when depreciation costs would be relevant to a decision maker.


When it affects division profits and therefore the division manager’s bonus!

7. Managers at times face multiple constraints (e.g., a limited amount of materials, labor, and machine hours) and want to maximize profits.  What approach in a multiproduct company  is used to address this problem(s)?


Linear programming (computer based, trial & error, or graphic)

8. If a company has only one constraint (e.g., pounds of plastic) and multiple products, what would they do to maximize profits?


Produce and sell all they can of the product with the highest CM / pound of plastic.  If any plastic is left over then produce and sell all they can of the product with the next highest CM / # of plastic…. until they are out of plastic.
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